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1001 '3, SKSIL:SLS11, 2)  |EDSIM(SAS2: $TSIS, V82, $Z810:52810)  [-DSIM(SAS2:$TSIS, 282, $7810:32811)  [-DSIN(SAT2:STSIS, AAS2, $Z$10:$7511)
1002 KS1I:SL§14,2)  [*DSUM(SAS2:§I$18, V$2, $X$10:$X$1D)  [=DSUM(SA$2:$1§18, 252, §X§10:§XS11)  [=DSUM(SAS2:$IS18, AAS2, $X$10: §X$11)
1003 K§11:$0$14,2)  [SDSUM($A§2:§1§18, V$2, SVFL0:$Y$1D)  [=DSUM(SASZ: §1§18, Z$2, §V§10:$V§1D)  |=DSUM($AS2: §I§18, AAS2Z, $VF10:$V$11)
1001 KS1I:SL§11,2)  [«DSUM(SAS2:§1S18, V§2, SN L0 SN ID  [=DSUM(SAS2:$1§18, 752, SWHL0:SWSID  [=DSUM($AS2:$IS18, AAS2, SWST0: §W$ 1)
1E il =STM(V3:Y6) =SUN(Z3:76) =SUM (AA3: AAG)
Jics
=ROUNDUP (Y37 (Z3+AA3)* (1+11 (Y 3>=6000000, 37% 2%)) —2)
=ROUNDUP (Y1/ (ZA+AAD) * (1+1F (Y1>=6000000, 37%, 32%)), —2)
=ROUNDUP (V5 (Z5+AR5) % (I+1F (Y5>-6000000, 37% )) -2)
=ROUNDUP (Y6/ (Z6+AAB)* (1+1I (Y6>=6000000, 37%, 3206) ), ~2)
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1004 'Dn‘ﬁ =|>s M (3AS2:$1818, v$2, $7§10:87§11)  |=DSUM(3A$2: 81318, 792, §7810:§7911)  |=DSUM (3A$2: 1318, AAS2, $7§10:§2§11)  |=ROUNDUP (Y3/ (Z3+AA3) * (1+1F (Y3>=6000000, 37%, 32%)), —2)
_ T002__ 3B ffnh |=DSOM (SAS2:§1S18, Y$2, $X$10:$X§11) __ [=DSUM(SASZ: $1§18, 292, SXS10 §X$11) __ |=DSUM(SAS2:§ 1§18, AAS2, $X$10:$X$11) __ |=ROUNDUP (VA/ (ZA+AM) * (L+1F (YA>=6000000, 37%, 32%)), —2)
ﬁ T003__JC i AS2:§ 1518, V52, SY$10:SV§11) _ |=-DSUM(SAS2:$1$18, Z§2, SYSI0: $VS11) __ |=DSUM($AS2:$1§18, AAS2, $VS10:$V§11) _ |=ROUNDUP (V5/ (Z5+AAB) * (1+1F (Y5>=6000000, 37%, 32%)), —2)
1001 JApah AS2:§1818, V52, SWSI0-SWSI1)  |=DSUM(SAS2:$1$18, 792, SWSI0: $WS11)  |=DSUM($AS2:$1818, AAS2, $WSI0:$WS11)  |=ROUNDUP (V6/ (Z6+AAG) * (1+1F (V6>=6000000, 37%, 32%)), —2)
R ENERG) =SON(73:76) =SUM(AA3:AAG)
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ALOL =VLOOKUP (Q3, $J$4:$K$7, 2, 0) =DSUM(SAS2: $1$18, S$2, $S$10:$S$11) =DSUM ($A$2: $HS TS, T$2, $S§10:$S$11)
104 |=VLOOKUP (Q4, $J$4:$K$7, 2, 0) =DSUM(SA$2: $11§18, S$2, $T$10:$T§11) =DSUM (SA§2: $II$18, T$2, $TS10:§T§11)
IE C102 =VLOOKUP (Q5, §$J$4:$K$7, 2, 0) =DSUM($AS2: $11$18, S$2, SR$10:§R$L1) =DSUM ($A$2: $HS 18, T$2, $REL0:§RS11)
3103 =VLOOKUP (Q6, $$4:$K$7, 2, 0) =DSUM($A$2:$1$18, S$2, $0$10:$Q$11) =DSUM ($A$2: $HS18, T$2, $Q510:$Q$11)
o i =SUM(S3:56) =SUM(T3:T6)
PR
HAamK 2
TTCO (B Tl A
ALO] =VLOOKUP (Q3, $)§4:$K$7, 2,0) =DSUM ($A$2: SH$1S, S$2, $S$10:$S$11) =DSUM ($AS2: SHS1S, T$2, $S$10:$S§11)
Eﬁ 103 [=VLOOKUP (Q4, $J$4:$K$7, 2, 0) =DSUM ($A$2: $I1§18, S$2, $Q$10:$Q$11) =DSUM($A$2: SIS 18, T$2, $Q$10:$Q$11)
C102 =VLOOKUP (Q5, $J$4:$K$7, 2, 0) =DSUM ($A$2: SIS 18, S$2, SR$LO:$R$11) =DSUM ($A$2: SIS 18, T$2, SR$LO:$RS11)
€104 [=VLOOKUP (Q6, §)$4:$KS7, 2, 0) =DSUM ($A$2: $I1§18, S$2, $T$10:$T$11) =DSUM ($A$2: SIS 18, T$2, $T$10:$T$11)
A =SUM(S3:56) =SUM(T3:T6)
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X101 s KY ~— |-_[%Ds K312) =DSUM( SFS19, N$2, SKS11:4 =DSUM (SAS2:$F§19, 082, SKS11:5K512)
X102 x|)¢ 12) =DSUM ( $19,N$2, SLS11: 4 =DSUM (§ 19, 082, § $12)
IE [N 12) =DSUM( $19, N§2, SMS 11 =DSUM (§ 19, 0$2 $12)
AT BRI 52, 5\3 $12) =DSUM ($A$2: $F$19, N§2, SNS 1114 =DSUM (§ 19, 082, SNST1:SN§12)
L1059 71 $19, M52, §0811:$0$12) =DSUM ($A$2: $F$19, N§2, SO311 =DSUM (SAS2:SF§19, 082, $0$11:50812)
7 aF |[=SUMO3NT) =SUM(N3:N7) =SUNM(03:07)
HARR2
CO Zalith : B it C M
X101 $=VLOOKUP (K3, $H$1:§188,2) = [=DSUM(SA§2: §F§ =DSUM ($A$2: §1$19, N§2, SKS : =DSUM (SAS2:§F§19, 082,
- X102 E=VLOOKUP (K1, $H$4:$188, 2) & |=DSUM(SA$2:SF =DSUM ($A$2 [ SLS1 =] $2:$F$19, 082,
R Y103 }=VLOOKUP (K5, $H$1: §188,2) = [=DSU §F =DSUM ($A$2 $11:SM$12) =DS $2:$F$10, 082, SVIS
7101_J=VLOOKUP (K6, $H$71:$188,2) = [=DSU =DSUM ($A$2 $11:3N$12) =DSUM ($AS2:$F$19, 082, NS
7105 _[5VLOOKUP (K7, $H$1: §138, 2) & |=DSUM (3 =DSUM ($A$2 :§ $11:30812) =DSUM ($A$2: 1§19, 0§52, §03
& gl =SUN QI3 M7) =SUM(N3:N7) =SUN(03:07)




